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Day 4 Elimination Using Multiplication

(% (n Gont Fuarig b(z)

Sometimes our M]@;Qﬂigare not ‘H/LQ So\mand we
have to _MLAX:\:\_Q_(UtO create opposites before we can use
e|({mrhation

Step 1: w N ‘l'(_ the equations so Ua V\ab(b are lined up.
Eep 2: HS\A\ )g‘n@ l(y%oth of the equations by a number to obtain

coefficients that are opposites for one of the vV a\q.ab(ks

Step 3: the equations to C‘\\W\‘.“q'{(‘one of the
vanabs

Step 4§9L\f< the equation for the remaining variable.

Step 5: S‘Absnﬁgv\\/gl%e obtained in Step 4 into either one of
the original equations and solve for the other vanay

Step 6: W_Wt}%solution as an OVUMNA 00\(}/-

(ay)
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Example 2

632y =10 éy—-? =10
3x 7y -19 _ (OY‘{'\C‘% 1_';8

ox-2W=10 02
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Solve the system

2x+7y=1
x+5y=2

Sometimes we will have toWMu\kiPly both ng\w\}by a

different number in order to have \\‘\Q terms.

Ax 2 8 D \/\af\m\‘%‘
Example 3 3;@3_9.2_ \2)( & (0 -:\ZP(

© =
/ G (1) +ey=(8 —~(p>(+ y=15
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5x-3y=6
2x+5y=-10

Example 4

Example 5 A buffet has one price for adults and another price for children. The
Taylor family has 2 adults and 3 children and their bill was $40.50. The Wong
family has 3 adults and 1 child and their bill was $38. What is the price for adults
and children at the buffet?




March 05, 2014




